uy=(A — 550) / 5
log =-0,35ly-u ]°
log 0=-0,35[\-u ]2
log©o=-0,35uy-u: ]
Adaptation: A =

maximum
log(

Schwelie

u=(\ - 550) / 50
log ©=-0,35\-u ]2
log 0=-0,35[\-u ]2
log o =-0,35uy~-u. ]2

=( o+
lo=

1=0,00

3 ux

uy=(\ — 550) / 50
log  o=—0,35[u)-u 12
log©0=-0,35u,-u- ]
|OgLo:—0,35[J)\—U57o]

570 Adaptation: A =

700 A/nm

NN

maximum

m)=
m=0,44

Schwelle

o uy=(\ — 550) / 50
—( ot Lo)/2
lo = log 0=-0,35~u-]?
|Og LO :—0,35[.1)\—U570]2
570 Adaptation: A =

120,00

3 Ux

700 A/nm

EG510-4A

U)\:()\ = 550) /50 la L|Q, Y|e,
log©o=-0,35uy-u 2
logLo=-0,35k~s7d?
log ¢=-0,35u)-u 12
7 s Adap.: A. =570

uy=(\ - 550) / 50
log©o=-0,35u)-u 12
logLo :—0,35[.1A—u5m]2

LE=(Got
Lo=L /0,44
Yie=Lo—L ,

= 0,5
maximum

uy=(A - 550) / 50
IogLO:—O,35[J)\—u57o]2
log 0=-0,35,-u ]?
log ©=-0,35uy-u ]
Adap.: AL =

uy=(A — 550) / 50
logLo :—0,35[.1;\—U570]2
log =-0,35u\—u
log o=-0,35uy-u ]2

lo

700 A/nm

EG510-8A




